## **Maisonette in Paola**



#### Paola, South



**€165,000** 

Total Rooms: 4

Bathrooms: 1

Floor Area (m<sup>2</sup>): 90

Reference No: 240061007-5992

P☐ Bedrooms: 1

### **Maisonette - For Sale - Paola**

PAOLA - MAISONETTE located in a quiet area of this beautiful village and also part of a Palazzo with 600+ years of history. Upon entrance, one finds what can be made into an Open Plan Kitchen/Living/Dining, one double Bedroom, Main Bathroom, a good sized Backyard, some storage Space and what could be made into a Sitting room. Property is being sold as is and freehold. Contact agent for more info.

#### **Features**

- En Suite
- Electricity Utility
- ✓ Wi-Fi

- Water Utility
- Soffit Ceilings
- Balcony

#### Rooms

Kitchen/Living/Dining: 6.4 x 4.8 m (30.72 m2)

✓ Sitting: 6.5 x 2.5 m (16.25 m2)

✓ Double Bedroom : 4.6 x 3.1 m (14.26 m2)

✓ Hallway : 4.6 x 1.6 m (7.36 m2)

✓ Hallway : 3.2 x 1.1 m (3.52 m2)

✓ Hallway : 1.8 x 1.2 m (2.16 m2)

✓ Bathroom : 5 x 1.2 m (6 m2)

Open Space : 2.2 x 4.6 m (10.12 m2)

# Gallery











**RE/MAX Superior - Fgura** RE/MAX Superior - Fgura

M: 23910000

E: fgr@remax.com.mt

T: 23910000

**RE/MAX Superior - Fgura** 368,Zabbar Road, Fgura, Malta